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The value of 4 —(7=6+2) 8 oo !
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Two pipes can fill a water tub in 5
minutes and 7 minutes respectively.
A third pipe can empty it in 3
minutes. If all three pipes are kept
open simultaneously, then the part
of the tub that can be filled in one

~  minuteis......
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.80 apples are distributed aniox_ig A,
- B'and Cin the ratio 2 : x : 4. If both

A and C together got 60 apples, then

thevalue of x1s ....cccceuee
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| 94. . The average 6f':_-'__i1:hé_ first 5

consecutive even numbers and the
first 3 consecutive prime numbers
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| The number of axes of 'syxln'm-eﬁry of

an e(iuilateral triangle are ..............
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In a pie-diagram, different vdlues

" arerepresented by ......
(1) rectangles
"~ (2) squares - -

(3) circles
(4) sectors
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One of the follov?ing pairs 1s a
co-prime. o
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If (—J X[EJ —[5) ; then the

value of'a"is.........
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A vehicle travels 14 kms in 25
minutes. If its speed remains the
same, then the distance travelled in

5 hours is inkms.) ........
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1) 160

(2) 168

(3) 537

(4) 540 |

The length, breadtli and height of
a room is 8 m; 6 m and 5 m
respectively. Then the total area of
four walls is (in sq.m.)
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(2) 240
(3) 140
(4) 280
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If the angles of a triangle are in the.-

ratio 1:2: 7; then the triangleis .....
(1) an acute angled triangle

(2) an obtuse angled triangle

(3) a right angled triangle

(4) an equilateral triangle
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If a bar-graph is drawn to 1 ¢cm = 10
units, then the length of the bar
representing a quantity of 52 units
is (in cms)
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The least number that leaves the
remainders 5, 7 and 18 when"
divided by 8, 10 and 21 respectively
18 s ' '
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104. If 1—--+— =0, then the value of
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Thé car 'parkin‘g charges are giizen
as: ; |

a) Rs. 60 for 4 hours

b) Rs. 100 for 8 hours

¢)" Rs. 260 for 24 hours -

d) Rs. 180 for 12 houré |
Which one of the following pairs is
in proportion?
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a) 4 Kowek &». 60 |

b) 8 Howe . 100

c) 24 XoweX &, 260

d) 12 rowes r. 180
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(1) a) and b)
(2) a) and c) |
(3) b) and ¢)
(4) a) and d)
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Bangalore Express started at 19.00
hours from Kachiguda and reached
Bangalore at 07.15 hours on the

next day. Then the tlme taken for

" the journeyis.

(1) 12 hours: and 15 mlnutes _
(2)_ 11 hours and 15 minutes
(3) 10 hours and 15 minutes

- (4) 13 hours and 15 minutes
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The base of a cylinderis............. '
(1) parabolic

(2) elliptical

(3) circular
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If (4x)3 = 433; then the value of 'x'
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109. If — is written as a repeatmg and

110. A man buys a scooter for Rs. 4,700 |

_ then his gain percent is
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99
nonterminating decimal fraction,

- then its periodicity is ..........
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and spends Rs. 800 on its repairs. If
he sells the scooter for Rs. 5,800,

----------
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If the volume of a cube is 1,728 |

cu.cms., thenits side (in cms) is..........
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The value of 3.6 —0.8 is ...cccuiuu

3.6-0.8 DO .ccvverrrrnennns
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If two sides of a triangle are 8 cm

and 11 cm, then its possible third

sideis (in cms) ...........
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The mathematician who first
declared that the approximate value
of the constant ratio between the
‘circumference and diameter of a
circle is 3.1416 s ....... |

(1) Varahamihir

- (2) Bhaskaracharya

116.

(3) Aryé\bhatta

(4) Srinivasa Ramanujan
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"Student shows fractions on a !

number line". This specification
relates to the objective of ......... -

(1) knowledge '

(2) understanding -

- (3) application
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(4) skill
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A person takes a loan.of Rs. 10,000
from a bank at 12% rate of interest
to purchase a motorcycle. If he wants
to repay the loan after 3 years, how
much amount has he to pay? The
method to be adopted to teach this
problem is fhe_

(1) deductive method

(2) analysis—synthesis method

(3) problem solving method

...............

(4) inductive method -
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The use of domino cards in the
Mathematics kit is that students
can ... ‘

............

1) wri'te‘-numlber_s

(2) do multiplication
. (8) draw parallel lines
'(4) do addition and subtraction
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119. The type of questions' suitable to

test definitions and properties in |

Mathematics is ..........

_ (1) objective iype

(2) short answer type |
(3) essay type

(4) very short answer type
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120 The school Mathematlcs club

" facilitates more for ..

(1) the teacher to improve his
professional competency

(2) the preparation of various school
records )

(3) the teacher to complete the

syllabus in extra hours

~ (4) the students to clarify their

doubts in Mathematics
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